Pure Core 2 Past Paper Questions: Mark Scheme

Taken from MAME, MAP1, MAP2, MAP3

Methods November 2003

it ES
5 (@] p= (33 )’ SPiz Bl | Convincingly shown (AG)
(b) =
(¢) | Addition of indices M1 OE
6
3 2
rg=2 AIF 2 Allow 22 ft wrong answer to (b)
Total 4
Pure 1 January 2001
Q Solution Marks | Total Comments
1(a) Differentiation M1 at least one term correct
y'=2x+2x7 Al accept unsimplified
=4+ whenx=2 AlF 3 f.t numerical or sign error
(b) | Integration M1 at least one term correct
j-,v dx = _%XE +x7 (+0) Al 2 accept unsimplified
Total 5
3(a) | Arclength=4.5cm Bl 1 condone misuse/omission of units
(by | Use of sector area formula M1 OE; award M1 even if degrees used
Sector area = 6.75cm” Al 2 allow all marks for sector and triangle
whether done in (b) or (¢)
(¢) | Triangle area = %(33 )sin 1.5 M1
=449 cm’ Al Pl
Subtraction ml
Segment area =2.26(=2.3)cm” | Al 4 convincingly found (AG)
Total 7
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S(a) | Length of 4th piece isar’ Ml
... = §metres Al 2 condone omission of units
(b) | Use of formula for sum to infinity M1 with numbers substituted; OE e.g. sum
. oo 27 to n terms
Sum 10 infinity = -z 81 Al 2 convincingly found (AG)
(¢) | Use of formula for sum to n terms M1 with numbers substituted; OE e.g. add
11 terms
, 27(-)") e (2
Sum to 11 terms = 7_% Al '-"]_f(z) earns M1AOAO
. =80.06 (>80) X '
Al = accurate value needed (> 80 given)
(d) | w=27(2) Bl OF
Use of log law(s) MI at least one law appropriately used
Inw=In27+ ](](l]] 2-In 3) AlF f.t 11 instead of 10
~-=10In2-7In3 AlF 4 f.t one small error
Total 11
Pure 1 June 2001
1 Use of correct formula for AP (OE) M1 with values inserted, mostly correct
All values correct Al
Sum is 75 150 Al 3 NMS23
Use of correct formula for finite GP M1 with values inserted, mostly correct
All values correct Al
Sumis 3" -1 Al 3 iep=3, g=1: condone g=-1ifno
other error seen; NMS 2/3
6
4 Use of sin? 8+cos? 9=1 M1
25 +5-1=0 Al 2 convincingly shown (AG)
Solving appropriate quadratic M1
sind =Lor-1 Al Allow NMS
Any one correct root B1 Condone degrees or dec approx here
Rootsare %, , 5% , 3%, Bl 4  BOif other values given between 0 and 21
At least one of ¢'s values halved M1 '
All of ¢'s values halved AlF 2 Must be more than one root found
8
5 y=x7 Bl 1
& 3% MIAl MI for kx?~! with ¢'s non-integer value of p
dx
= 67-%— AlF 3 ftwrong coefficient of %
4
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Pure 1

January 2002

Q Solution Marks | Total Comments
1 (@) | Use of y'=m"! Ml coeff or index right or both approx right
-2
- }xT Al 2
J
(b)(i) il Ml Coeff or index right or consistent with
.‘-'V &S n |(+"I) each other
d
x3
= 4—(+u) Al 2 Accept unsimplified
%
(ii) | Substituting x =8 in integral Ml not in y or in »’
L.=12
| vrons coetrot 1 s decimae
AlF 2 ft wrong coeff of x/-; allow decimals
Total 6
2 @ | Jog,8 =3Dbecause2® =8 El | OE: AG
) | jog,(8%) =12 Bl 1
. . I _oh
(ii) | Use of at least one log law Ml OE. eg =8 72
1 = V8
log I =-= 2 ~
20 %) 2 Al NMS Bl for AWRT —1.5
Total 4
3 (@) | Use of formula for nth term of AP Ml allow M1 for, eg, 15+3n
nth term =15+3(n—1) Al 2
(b) | Formula for sum of AP Ml allow even if formula not used
. |
Total time = ?H(30 +3(n—1)) days AIF ft wrong answer to (a)
= %ﬁ(rr +9) days Al 3 convincingly found (AG)
(©) | 3 fith . adratic
Zn(n+9) =600 Ml With attempt to solve quadratic
=
(n+25)(n-16)=0 ml Accept full list of 16 terms (3/3)
Length = 16 miles Al 3 NMS B2 forn=16
Total 8
Question 5b
(b)(i) | Formula for sector area M1 allow even if not used; condone degrees
here (M1 AQ)
Area A =258 cm’ Al 2 condone omission of units;
accept unsimplified but not in terms of r
(ii) | Appropriate use of tan & (OE) M1 in finding area of A
1 25 a
Aread = E()P XPT = B tan & cm Al 2 accept unsimplified
(iii) | Area Bis twice Aminus 4 M1
ie 25(tan@ —6) em? Al 2 convincingly obtained (AG)
(iv) | Equating answers to part (i) and part M1 dependent on M1 in part (i)
(iii) Al 2 ditto
25(tan @ — @) = 250, hence result
v) | @ =1.2(AWRT) BIF 1 condone use of other methods or NMS;
ft wrong interval of correct width in part
(a)(ii)
Pure 1 June 2002
2 (a) | Correct formula for sum of AP MI
stated.
All values substituted ml
Sum 392 Al 3 NMS 3/3
(b)(i) | Terms 47, 44, 41,38 B2. 1 2 Bl for47 or consistent errors
(ii) 16 pDSiﬁ\*e termsjustified E2. 1 2 El for pﬂ]"ﬁﬂl reas()ning_ e.g. ug = 2
Total 7
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S(ai) | . n_ 1
Sin— = —= Bl OE exact value
i 2
(ii) 3
cosX = t‘ Bl ditto
(iii) L
tan— =+3 Bl 3 ditto
a
by | . 1 y (1) M1 Accept degrees or decimal approximation
smx=y SRR F throughout (b) and (c) (at least 2 DP)
L. W
One x - coordinateis 1 Al NMS 2/2
. n_3n AlF 3 ft first value wrong; allow NMS
Otheris T—— =
4 4
(c) o n in B2F 2 ft wrong values in (b); condone < for <
sin“x>—& —<x<
2 4 4
(d) | sin?x+cos*x =1 stated M1 or complete method based on earlier
results
Conclusion (AG) Al 2
Total 10
Q Solution Marks | Total Comments
6 (a)(i) T Bl 1 Condone decimal approximation here
o=—
3
(ii) | Arc length = rer M1 OE; Allow even if not used
..=2mem Al 2 Condone dec and/or no units
(i) | Apon A = lhusina M1 OE: must be used
=
Correct use of sin60° = 73 ml OE, eg Pythagoras and V27 =343
Area 94/3 cm? Al 3 convincingly found (AG)
(iv) | Sector area = lrz(x M1 OE; Allow even if not used
2
Both values substituted ml
L =6rcem’ Al 3 convincingly found (AG)
(b)(i) | Total length =3x length of arc BC Ml PI
=19 em AlF 2 Accept AWRT 19; condone omission of
units; NMS 2/2
ft wrong answer to (a)(ii) provided M1
carned there
(ii) | Segment area considered M1 Pl
Total area = 3(segment)+ triangle ml OE; condone halving of this area
=25¢em? Al 3 Accept AWRT 25; condone omission of
units
Total 14
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Pure 1 November 2002

2 @|"= 105, wy=11 BIBI 2 Allow 1/2 for answers 10, 10.5
(b) Common difference is 0.5 Bl 1
+0.5n=25=0.5n=15 M
© 10+0.5n=25=0.5n=15 M1
o= n=30 Al 2 NMS 2/2
@ Formula for sum of AP stated M1
Sum =32(10.5 + 25) ml OE; Allow with one error
..=532.5 Al 3 NMS 3/3
Total 8
5 & MIAT1 n+l
3 (a = X for 2 at =
(a) Jx, d :T(ﬂ’) MI for attempt at P
2
Substitution and subtraction ml Subtraction must be the right way round
. 5 5 Al 4 AG but allow evaluation on calculator
4 5 2 12
j x dy —Lff =62
53 Bl
2 2
Total 3
4 (a) log,8=3 Bl
(b) | log, 9=2log, 3 Bl
(c) | log, 72=1log, 8+log, 9=3+2log, 3 BIF ft wrong answers to (a) and/or (b), even

where answer not of required form

Total
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Q Solution Marks | Total Comments
5 NB Allow overspill between the parts of
this question eg work for (¢)(i) done in (b)
: . sin @
(@) gt i =2cosf = 3sin@=2cos> @ Bl ! AG: either " or “xcos8 ” must be
cos cos
seen
(b) | sin’@+cos’@=1 quoted Ml
3sin@ =2(1-sin? @) Al Replacing cos® with 1 —sin® in equation
in (a). or replacing sin® with 1 -cos”in
equation in (b)
So 2sin@+3sinf—2=0 Al 3 AG but condone reverse logic
Must see intermediate step(s) from
previous Al
(c)(d) | Attempt to solve for sin 8 MI MO for verification
(2sin@ —1)sin@+2)=0
Values correct and conclusion drawn Al OFE: NMS 2/2 for roots /2 and -2
NMS 1/2 for roots Y2, 2
Al 3 AG: impossibility of sin @ = 2 = 0 must be
explained correctly
(ii) P n Bl Condone degrees or decimals in (ii)
6
S BIF 2 Ignore values outside domain; ft first
6 = ~—(and no others in domain) value wrong
(iii) T | Bl OF exact form
tan— = —
6 43
= BI 2 OE exact form
T \-"3
cos— =
6 2
(iv) R 1) o |/ \ﬁ V= Bl 1 AG: 3 in denominator must be handled
3 — |=4/3 2 =43
3 ) A 2 ) v properly
Total 12
Pure 1 January 2003
Q Solution Marks Total Comments
1@)| 10r=9=r=09 Bl 1 Convincingly shown (AG)
(b) | Formula for nth term of GP stated M1 Or used
1y =10(0.9)"" Al 2 |OE
(¢) | Formula for sum to n terms stated MI Or used; MO for list of terms
25
S5 = 101-097) _ 92.3(21) Al 2 AG (92.8): allow just 3SF if no error
1-0.9
(d) | Formula for sum to infinity stated M1 Or used
S.. =100 Al 2
Total 7
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4 (a)(i) | Useof sin®@+cos’@ =1 Ml OL. e.g. Pythagoras
2 B B
cosf = :; convincingly shown Al 2 AG but condone no mention of +
(i) | Use of tang = Sin€ Ml OE. eg right-angled triangle
cosb
5
tané = 3 Al 2
(b) | 8=0395 Bl 1 Condone AWRT 0.395 or 22.6°
(¢) (i) | Formula for arc length stated MI or used
T Al 2 |AG(12.7)
0.395
(i) Formu la for sector area stated M1 or used
Substitution of appropriate values ml not %(13.72 XEE.())
Area is L—(I 2.7F (0395) =32 cm® Al 3 Condone absence of units; accept
& AWRT 32
Total 10
1
6 (a)(i) (x) = 1 \_7? MIA1 2 M1 if coefficient or index correct
x) =
(ii) | Gradientat x =4 is II AlF 1 ft wrong coeff
3 3
b)(i x2 MIAI M1 for kx?2
(b)(i) Jf(x)dv: ‘: M1 for kx
)
ot 2x (He) Bl 3
(i) | Substitutingx =4 MI In ¢’s integral (not f(x) or £9(x))
4 A
. 40
fxydy =—
J.” ) 3 Al 2 Convincingly found (AG)
1 L
©| y=x242=>x2=y-2 Ml OE
= x=(r —2)? . hence result Al 2 Convincingly shown (AG)
(d)(i) | Line of symmetry is y =x Bl 1
(ii) | Complete method for area of A M2, 1 M1 for area of some relevant region
(not just a rectangle or triangle) or
4 2
_ 2
L (x=2)" dx
Shaded area is ¥ A2.1 4 Al for area of relevant region or
J
' _8
3
or if ¢ makes one error after M2
SC MIAL for
J‘:f(x)d\’f J‘:ffj (x)(hr =8
Total 15

Prepared by Toot Hill School Maths Dept April 2006




Pure 1J

une 2003

3 5 4
1 ()i T Xy 2
@ad _[‘TZ dv= 3 (+e) MIAL 2 M1 if index correct or for example Y—4
2 2
condone 12 for>
2 2
(ii) | Substitution of x =4 ml
3 64 3
JZ,\’Z dx=—=128 AIF 2 ft wrong coefficient of x2
5
(b) | Required Area =areaof A-12.8 M1 Condone eg area of A= axg
| 2
= ;(4>< 8)-12.8=3.2 AILF 2 ft wrong answer to (a)(ii) provided
- answer > 0
Total 6
2(a) V=83 MIAL 2 M1 if at least one term correct
(b) | AtSP, 8x7 =1 ml
SPis(2.3) AlAl 3 NMS x=2,Bl y=3.BI
(c) ¥ o=24x74 mlAlF ml if index correct;
ft numerical error or y’ = —8x~
3. < y
=Jat sP AlIF ft wrong coefficient of x*
so SP isa min EIF 4 ft wrong (non-zero) value of " at SP;
allow * " = 24x~* > 0 without a value
Total 9
3(a)(i) | Sector area formula Ml Allow even if formula not used
Sector area= 320¢m’ Al 2 Condone omission of units throughout
(ii) | Appropriate use of sin & M1
Triangle area = 32sin @cm? Al 2
(iii) Segment area = (326 —32sin 8)em’ AlF ] f LH -;mswcrs__ dependent on both M
marks
4 (a) | sin®x+cos’x =1 stated Ml or used
2 gin? x+sinx =0 Al 2 convineingly shown (AG)
b . 1
(b) sinx =0 or —— BIBI
2
sinyx=0=x=0o0r=n Bl In (b) condone degrees or decimals, and
ignore values outside domain
B0 if other values in domain included
Useof sin® =1 oF M PI
__1 _Jn . ll=x . . .
Smx=-—_—=x= 3 L I AlAl 6 Deduct | for each incorrect value given
- (in domain)
NMS 4/4
Total 8
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6 (a)(i) | Increase is u‘l LW Bl OE
L100)
: . g
So common ratio is 1+ ﬁ Bl 2 convincingly shown (AG)
(ii) ( ) )
b= 2(]0(]‘ 1+-2 Bl Condone a for 2000 here
L 100)
'd \2
¢=2000/ 1+-L| Bl 2 | dito
L 100/
(b)(i) | Equating last answer to 2332.8 M1 2000 must be present now
4 P \2
| ]+ﬁ | =1.1664 Al OE:; verification earns MIA1 max
\ /'
So p=8 Al 3 convincingly shown (AG)
(1) | e of ar” M Allow @™ or ar"*!
u, = 2000(1.08)" Al 2 Condone 2000(1.08)" ™" here
(iii) | Bajance = £2000(1 .08)”} M1 Condone index 9 or 11 here
= £4317.85 Al 2 NMS 2/2; allow AWRT 4320 or 4310 to
3st
Total 11
Total 60
Pure 1 November 2003
Q Solution Marks Total Comments
L@ | common ratio:% Bl 1 Allow AWRT 0.333
(b) | Formula for 10" term Ml Stated or used; condone ar'®
i 2 . Al 2 NMS 2/2; condone 0.000304 or AWRT
10" term = “1_8 =0.000305 0.0003048
(¢) | Formula for sum to infinity MI Stated or used
. .6
Sum to infinity ::: 9 Al 2 Must be exact
Total 5
2(a)(i) .30
¥y =5 ;.\‘Z |*3 MIAL 2 M1 if coeff and/or index correct in 1%
e term
) ...=0 when I"nrZL =0 ml
ie x* =04 Al Allow B for verification after mlor m0
ie x=0.16 Al 3 Conclusion must be drawn (AG)
3 (a) | Right shape from O to asymp Ml Ignore anything shown outside domain
Complete graph Al
Correct x scale indicated Al Condone decimals and/or degrees in (a)
and (b)
T 3n . .
Asymptotes x = oY= Al 4 Equations needed, not just x values;
- - Condone x#... butnot y=...
. T
(b) | One root is = BI Allow AWRT 1.05
Second . _dn
second root 1s 3 ta= 3 MIAIF 3 AWRT 4.19; ft wrong value for first root;

Prepared by Toot Hill School Maths Dept April 2006

ignore roots outside domain; A0 if ¢ gives
other ‘root(s)” in domain




5 (a) 53:1255010&125:3 El !
(M) | Jog, (1252 )=2x3=6 BI I
(ii) ey 3
lngsv‘ll\:)%l:S Bl 1
(iii) ( V3 ) .
logs| —|=—-= BIF 1 ft wrong answer to (i1)
V125 2
(©) | Use of logkx =logk +log x M1 or 125x=5"
x=35 Al 2
Total 6
I - . .
6 (a)(i) | 10°=——rad (=0.0567) MIALI 2 M1 for attempt, condone AWRT
18 . -
0.055mor 0.056m
(ii) | Sector area formula M1 Stated or used
I (7))
Area = :(60)2| % I(mmz) ml Allow use of ¢’s answer to (i)
..=100mmm* Al 3 Must be exact here (AG)
(M) | Area of S, isl 3(]7[("““2) Al Condone decimals in (b)(i) (377, 440.503)
Areas 1407, 160n{mm?) AlAT 3 | NMS 2/3 even after MO or m0
SC 2/3 for consistent attempts to use
l}'zﬂ
2
(ii) | Formula for sum of AP Ml Stated or used
: n
Sum == (2007 + (n — 1)(20m)) ml OE:; condone one small error
. =100m1 + 107n(n 1) Al OE
= 107n(n + 9)(“““2 ) Al 4 Convincingly shown (AG)
(iii) | Attempt at verification M1 or solution of appropriate equation
n=15=sum =3600n(mm?) Al OE, eg with angles rather than areas
... = area of disc, hence result Al 3 Convincingly shown (AG)
Total 15
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Pure 1 January 2004

Q Solution Marks Total Comments
3
1 3
1 (@ _[»‘fz dx = 5 (+c) MIAL 2 M1 for the correct power of x
2
(b) | Substitution of x =2 ml
il , 3 .
Zd =< 22 =
GJ.Y x=3(27) Gl ft wrong coeff of x 2 ; decimals not
- allowed
=4/
3 AIF 3| ditto
Total 5
Allow 1/2 foranswers2, 6
2 (a)| 4 =6 u,=18 BIBI 2 SR
(b) | Common ratio is 3 Bl 1 Condone [:3
(¢) | Formula for sum of GP stated MI or used
. 6(3" —1
S = (: ] ) ml Allow with one numerical error
..=30 104 ) Al 3 Convincingly shown (AG)
Total 6
3 (a) | Sector area formula stated MI or used
Sector area=12.5 @ (cm®) Al 2 Condone omission of units throughout
(b)(i) | Equating sector area to 6.25 MI
g =0.5 Al 2
(ii) | Arc length formula stated MI or used
Perimeter = 22.5 (cm) AIlF 2 ft wrong value of &
Total 6
4a)(i) | Terms 102, 104 BIBI 2
(ii) | Formula for sth term stated M1 or used
100+ 2 (n—1)=200 ml OE; allow with one numerical error
No of terms = 51 Al 3 Allow NMS; allow 2/3 for answer 50
(b) | Formula for sum of AP stated M1 or used
Total length = y(I(J(HE(](J) Ml OE; allow with one numerical error
...= 7650 (mm) Al 3 SC allow 3/3 for correct answer obtained
by adding all 51 numbers but NMS 1/3
Total 8
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Q Solution Marks Total Comments
7 (a) | sin %:% Bl Allow 0.5
Bl OE surd, eg \.‘"0.75
lan == Ir Bl 3 OE surd, eg w'im‘ 3
V3 V3 3
(b) | Either sin’ x +cos” x= | stated M1 or used
Elimination of sin x or of cos x ml
4cos’ x =3 ordsin’x =1 Al OE
Or tan x = sin x/cos x stated MI or used
Equation in terms of tan x only ml
3tan® x=1 Al OE
Then one value is & Bl Condone 0.52; condone degrees or
6 decimals throughout
At least one other value found M1 NMS 2/2 if completely correct list given
Values are £, 28 Tz 1lx only Al 6 Ignore values outside domain
67 676" 06
Total 9
Pure 1 June 2004
Q Solution Marks | Total Comments
1(a) | Formula for sum of AP M1 Stated or used
All numbers substituted ml Condone one error here
Sum is 20 100 Al 3 NMS 3/3
(b)(i) | Values are 6, 14, 22, 30 B2, 1 2 B1 for one error, eg — 2, 6, 14, 22
(i) | Any clear correct method M1
Sum is 2 x20100 =40 200 AlF 2 ft wrong answer to (a); NMS 2/2
Total 7
2(a) | Arc length formula M1 stated or used (@ in radians)
P=8(@+2) Al 2 Convincingly shown (AG)
(b) | Sector area formula M1 Stated or used (@ in radians)
A=328 Al 2
(©) | 320=8(6+ 2) Ml Condone mixture of deg and rad here
16
e ? m1ALF 3 Allow TE ft numerical error in (b);
NMS 2/3
Total 7
3 | y(0)=6, y(1)=-1 BIBI
Sign change, so root between El 3
(5 1) MI for kx*
’ 3 5 / or kx?®
o)y | »'=2| 227 MIAI
\ - /
..=9 B1
{ 13
y'=3 1—\ 2 l 1
\ 2 ) MI1A1 5 M1 for kx * asderiv of Ist term
- 1
(i) | AtSP 3x2=9 Ml Or B1 for x = 9 verified,
then B1 fory =-27
Sox=9 AlF ft numerical error in 3’
and y =—27 Al 3
iii w_ 1
(i) Atsp =1 Bl
This is positive, so minimum E1F 2 ft wrong value for y”atSP
Total 13
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Q Solution Marks | Total Comments
4@) | In(pg)=Inp+Ing Bl 1
(b) ln(pqu)ziln p+3lng Bl 1
(e
»
(c) ln‘LJ =Ilnp-Ing Bl 1
\q
[p_1 l
)| In == qln pf:lnq BIF 1 ft wrong answer to (¢)
g 2 2
Total 4
S(a)(@) . 345 _ 15 B1 . Convincingly shown but condone
230 ’ verification (AG)
(ii) 3" term = 517.5 Bl Allow 517 or 518
4"term = 776.25 Bl 2 Allow AWRT 776 or 777
SC B for answers 776(.25) and
1164(.375)
(b) | 1801 value from 4" term M1
i.e. (AWRT) 7 760 000 to 3 SF AlF 2 ft ¢’s value for 4™ term in (a) (i)
or 7 770 000 NMS 2/2 for ¢’s answer x 10 000
Total 5
6(a) | sin” x +cos” x=I M1 Stated or used
So at P/Q sin 2 tsinx—1=0 Al 2 convincingly shown (AG)
S| e NMS 2/2 for AWRT 0.618 and
(b)(i) | sinx = 2\ MIAL : AWRT -1.62
(ii) | Pos value is 0.618(03) Al Convincingly shown (AG)
—1.62 < — 1 so impossible El 2 Allow 'sin xcan't be neg in given domain’
(c) | Attempt at sin 10618 M1 PI by answer in radians or degrees
x —coord of P is 0.67 Al Allow AWRT 0.67 or 0.66
N AWRT 2.48 or 2.47 or 142;
e ) ~ )
e . ° ft wrong co-ordinate for P
Total 9
Pure 2 June 2002
Lotal (3)
2(a)(i) | Setting up simultaneous equations M1
h=02 Al
a=12 Al (3)
(ii) | p, =1492 B/ (1) Accept 14.9
ft their @ and b
(b) | w=124+02w(or=s) M1
= Al 2) Must be equation: 15 only gets MOAQ
Total (6)
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Pure 2 June 2004

Q Solution Marks| Total Comments
6(a)(i)| C(4,3) Bl
(iiy| r=2 Bl 2
(D) | (x—4Y +(y-3 =4 and y=x+1
meet when  (x-4)" +(x+1-3) =4 M1 Substitution attempted
. ) or eliminating x
= (x-4) +(x-2) =4
(_\'E —8x+1 ())+ (_\'E —4dx+ 4) =4 M1 Multiply out correctly and simplification
N i attempted
2x° —12x+20=4
Y —6x+8=0 Al quadratic
(x— 4)(’,\' -2)=0 M1 factorise/other valid method attempted
x=4 or x=2
SRR A(4,5) & B(2,3) Alft 5 Both points (cao)
x=2 = y=3
(ii) . 1 , 1
Area of segment = —n(2)” ——(2x2) M1 1 . .
! 2 ' 1 xcircle - triangle
Alft (on their value of r)
=q-2 Al 3 AG (AWRT 1.14)
Total 10
Pure 3 January 2002
Q Solution Marks | Total Comments
1] (7.3 .1 .
{ 4J 32 MI 'Cy inany form and either
AN
3% or 2* present or implied
i Al All present.
15120 Al 3 y I T .
3 Accept as part of an expansion
Total 3
Pure 3 June 2003
Q Solution Marks Total Comments
1196 . M1 C, in any form
\3) ~6 23 FIRT
M1 2" and 37 present or implied
145152 Al 3 Accept as part of an expansion
Total 3
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